Opérations avec deux fractions mixtes (H)

Nom:

10.

Date:

Calculez chaque résultat.

5§+5% =
524402 =
5%—2— =
55 —5- =
1137><5§=
11—8+5%=
57435 =
53 +25 =
52 -3 =
sl -

Note:
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Opérations avec deux fractions mixtes (H) Réponses

Nom:

10.

5§+5%
55 + 472
5%—2—
52 — 5-
150+ 5
57+33
5§+2;—é
52— 3>
hxall =

53 11
9 " 2
47 54
8 11
16_s
3 2
45_21
8 4
1 23
17 4
35, 41
19 * 8
2,7
4 2
29 51
5 20
35_15
6 4
u 3l
2 20

Date:

Calculez chaque résultat.

_§X3_1O6
9 11
—47><11—517
8 54
_ 215 _ U
6 6 6
_ 4 4 _ 3
8 8 8
_ BT
N 68 68
_ 35,8 _ 280
19 41 779
_a, u 3
4 4 4
_ 116 51 _ 167
20 20 20
_70_45 _ 2
12 12 12
_ M _
- 40 40

99

432~

99

85
432

\®)
Nl W

Note:
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